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                                                                       A little progress every day 

1. 210 6 12 19+ − − =  _________． 

 

 

 

 

2. Qiqi did calculation exercises and did 15 questions in 5 minutes. At this speed, she 

can do _________ questions in 8 minutes. 

 

 

 

 

 

3. One day, Jiajia was picking a type of grass with three leaves in the big forest. 

Suddenly, she picked a type of grass with four leaves. At this time, she found that the 

grass she picked had a total of 40 leaves, and she already had         grass with three 

leaves. 

 

 

 

 

 

 

4. There are a total of ________ squares in the figure below. 

 

 

 

 

 

 

 

 

 

 

 

5. Haohao has 22 pieces of candy, and Yuanyuan’s candy is 3 pieces more than half 

of Haohao’s. Then Haohao gives Yuanyuan ________ pieces of candy, and they both 

have the same number of candies. 
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6. In the following two calculations, the same Chinese characters represent the same 

numbers, and different Chinese characters represent different numbers: 

 

  2015=+探秘数学花园   ，   花园探秘 =+++++ 10321     

So 数学花园＝_________． 

 

 

 

 

 

7. Teacher Wang teaches in a special school. He can take one day off after three days 

of class. It is known that his first day off this semester is on Tuesday, so his fifth day 

off is ________.  

 

 

 

 

 

8. Use sticks with a length of 6 cm to make a square. It takes 4 sticks to make a square 

with a side length of 6 cm. It takes at least ________ sticks to make 5 such squares. 

 

 

 

 

 

 

 

 

 

9. Fill in the "+" or "-" in □ of the formula 1□2□3□6□12. There may be a total of 

_________ different results. 

 

 

 

 

 

 

 

 

 



   https://kangaroo.study  WhatsApp: 80382563 

                                                                       A little progress every day 

10. Fill in the numbers 2, 0, 1, 5, 9 in the blanks. So that each row and each column 

have a 2,0,1,5. It is required that the same numbers cannot be diagonally adjacent 

(except 9). Then the first five positions of the fifth line are _________ . 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

11. 1 kilogram of soybeans can be made into 3 kilograms of tofu, and 6 kilograms of 

soybeans are needed to make 1 kilogram of soybean oil. 1 kilogram of tofu earns 3 

yuan, 1 kilogram of soybean oil earns 15 yuan. There is a batch of soybeans totalling 

460 kilograms. After being made into tofu or soybean oil and sold, 1800 yuan was 

obtained. ________ kilograms of soybeans in this batch were made into soybean oil. 

 

 

 

12. For Question 12:  

 

Please fill in the ten-thousands place + thousands place on the answer sheet with the 

number of what you consider to be the best question in this test; the answer range is 

from 01 to 11.  

 

Please fill in the hundreds place on the answer sheet with the level of difficulty you 

consider for the overall test paper, with "1" being the easiest and "9" being the most 

difficult, totalling nine levels; the answer range is from 1 to 9.  

 

Please fill in the tens place + units place on the answer sheet with the number of what 

you consider to be the most difficult question in this test; the answer range is from 01 

to 11.  

 

(All answers within the specified range will receive points, and all assessments will be 

considered as the individual's valid assessment of this test paper. No answers or 

answers beyond the specified range will not receive points.) 


